VCE & PDF https://www.passapply.com/1z0-863.html
2024 Latest passapply 120-863 PDF and VCE dumps Download

PassApply.com

170-863%6As

Java Enterprise Edition 5 Web Services Developer Certified
Professional Upgrade Exam

Pass Oracle 1Z20-863 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-863.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest 170-863 Dumps | 120-863 Practice Test | 120-863 Study Guide 1/3


https://www.passapply.com/1z0-863.html
https://www.passapply.com/1z0-863.html
https://www.passapply.com/1z0-863.html

VCE & PDF https://www.passapply.com/1z0-863.html
2024 Latest passapply 120-863 PDF and VCE dumps Download

PassApply.com

QUESTION 1

An organization has business logic implemented in EJB components. Current clients use container-managed, role-
based security to access the business logic using RMI. Management has determined that the business logic must be
made available to non-RMI clients using a Web service. Which container-managed Web service security mechanism
must the development team use to allow Web service clients to use the current security model?

A. XKMS

B. XACML

C. XML Digital Signature

D. HTTP Basic Authentication

E. annotations mapped to the JAX-WS runtime

Correct Answer: D

QUESTION 2

Which statement is true about the mapping of a UDDI tModel in the JAXR 1.0 specification?
A. JAXR APIs cannot be used with a UDDI registry using tModels.

B. UDDI tModels are mapped to the JAXR ServiceBinding interface.

C. UDDI tModels are mapped to JAXR ServiceBinding and JAXR Organization.

D. UDDI tModels are mapped to JAXR ClassificationScheme and JAXR Concept.

Correct Answer: D

QUESTION 3

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.)

A. SAX

B. DOM

C. StAX

D. JAXM

E. SAAJ

Correct Answer: BC
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QUESTION 4

A company is refactoring an existing website to use Web services clients. The application retrieves lists of parts and
displays them to the users in a browser window. Previously, the data was stored as files on the web server and, in order
to access the files, the user would simply click on a hyperlink. Now the data must be dynamically generated via a
service that another developer has created. They want the easiest way to refactor their website to use Web services.
Which three technologies should they use? (Choose three.)

A. SOAP

B. REST

C. Javascript

D. XML

E. JSON

F. Java

Correct Answer: BCE

QUESTION 5

What are two valid facts about WS-1? (Choose two.)

A. The I-Stack is a great development tool.

B. The WS-I promotes and supports generic protocols for the interoperable exchange of messages.
C. The WS-I governs languages and protocols such as SOAP, WSDL, and UDDI.

D. The WS-I specifies specific rules that address either weaknesses in component specifications or issues of how to
combine the collected technology.

E. The WS-I has been a guiding force in creating StAX.

Correct Answer: BD
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